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General Instructions:
1) Students are advised to choose one correct answer for every question.

LIzl L L1 S Qe dedafUr b
2) Read each question carefully before answering.
Fe il i TS Jir g
3) Encircle the correct option of MCQ with a Black /Blue ink.
-ufb’ju’ucd‘y&f / d(/,_.,lﬁé‘ LZJird&m 2
4) More than one encircled answers will be considered incorrect.
-(Lu[u..’f 159 w32 Kl ool s L
5) Encircle the correct answer as shown.in the example:
-« gl{;uﬁdt‘ﬁfg«yuj’b‘iu’l»fé.,mé‘
Example: Tortoise belongs to which group of vertebrates?
9‘L‘,__;,f d:( LJ‘: ﬁ ) g}w (L}édl‘«"'

(@) Birds  «sy (b) Amphibians &3S
@Reptiles F (d) Mammals o
Part-A (Multiple Choice Questions) Time Allowed: 50 Minutes

AL p g S F Sy p s i 8 2 (25) U o1 iy
Instructions: -Twenty five (25) Multiple Choice Questions (MCQs) are given in
this part. Attempt all questions. Each question carries two marks.
Q. No.1. The basic structural difference between vertebrates and invertebrates

is:
(eGP n L E I U i
(@) skin s (b) legs u:?e (c) backbone $4¢ 2 (d) eyes il
Q. No.2. Classification makes the study of organisms: e dtes/ b ZUsitslp §bns)
(a) difficult S (b) easy LT
(c) random i (d) complex 045
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Q. No.3. Mango plant belongs to:

:4.&1’7 Kz_;gér'f
(a) fungi = J¢ (b) conifers Iy
(c) monocots = Sy (d) dicots :,uj P élﬁ’

Q. No.4. Fish breathe through:
it S 2L Ul

(a) lungs % (b) gills #
(c) fins 7 (d) scales AF
Q. No.5. In a seed, root originates from:
:‘aur‘aggkc_:ﬁgﬁég
(a) cotyledon uyéf (b)-endosperm o
(c) plumule Jsz sk (d) radicle Kok
Q. No.6. The cause of infection in our body is:
:‘ggsd/uggluﬁ()'gjln
(a) vaccine o (b) antibiotics JEAG
(c) germs £z (d) antibodies 23
Q. No.7. Dengue fever spreads by the bite of:
o (e or§2 KL o A s
(2) mosquito A (b) house fly &
(c) wasp Vi (d) honey bee alisr
Q. No0.8. Major cause of environmental pollution is:
PRI
(a) plants .y (b) water &g (c) factories U (d) stormsgts

Q. No.9. Materials that are decomposed by microorganisms into simpler
substancesare known as:

:uj?.ﬂz'(‘uj &3 A Unlol ]7(17511 L o J, )
(a) non biodegradable ¥ et (b) biodegradable ¥ v
(c) pesticides elsibe (d) fertilizers S

Q. No0.10. Regular arrangement of particles is NOT present in:
Ut L U oL
(a) sugar Wtx] (b) salt A

b

(c) flour LT (d) honey Sat
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Q. No.11. The instrument shown in the figure is a cause of:

fe oS IV UES
(a) air pollution SEodin (b) water pollution 0747
(c) land pollution SEITE (d) noise pollution S8
Q. No.12. Change of water into vapours is called:
e bl o a7 e i 60y
(a) evaporation Fd (b) freezing 6z
(c) melting 3 (d) condensation -4

Q. N0.13. The use of oil and grease reduces:

::‘.w%&mf FS e Lz,/uldf

(a) friction (b) mass e (c) weight s (d) time =3
Q. No.14. Which force is represented by the arrow? St b e d e
Start Finish

(@) magnetism =tz (b) gravity J””H (c) electricity J. (d)friction
Q. No.15. A 500 gram ball has maximum weight at a height of:
:4‘-_”:5/ ﬂ/’dﬂ."/? u)»:&)c,./‘&cf (f ri/( 500

(a) 5 kilometer K5 (b) 10 kilometer 10
(c) 15 kilometer K15 (d) 20 kilometer 420
Q. No.16. An example of a wedge is:
‘gdl“/d/a.lg..{l
@cup (b) knife  F, (c) plate =4 (d) glass &
Q. No.17. An examble of opaque object is:
e SIS s F
(a) tissue paper ;P (b) tracing paper /;m,meJ

(c) water d (d) wood 124
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http://www.google.com.pk/imgres?imgurl=http://www.clipartoday.com/_thumbs/034/N/Noise_tnb.png&imgrefurl=http://www.gopixpic.com/3300/cartoon-noise-pollution/http:||kushalbhattacharya*files*wordpress*com|2013|02|noise-pollution-copy*jpg/&h=350&w=301&tbnid=P6dvjLtdtWtfHM:&zoom=1&docid=0pAh2tgBWVVzHM&ei=J7amVJLoHY3aaqPEgeAB&tbm=isch&ved=0CGQQMyg0MDQ&iact=rc&uact=3&dur=992&page=4&start=40&ndsp=15

Q. No.18. The image formed by a pinhole camera is always:

:§_m;‘a€f 1P /fdnu;
(a) straight (o4 (b) inverted e
(c) large 1% (d) medium At s

Q. N0.19. When two surfaces rub against each other, the electrons move from one
object to the other and objects are charged. This charge is called:

e b Ty gea bt gl gl o 4 ) L e & T3 ARTI U 0

(a) magnetism bl (b) electricity B
(c) static charge @/g‘f - (d) lightning FEiet
Q. No0.20. Clouds send negative 6harge to the earth due to which property of
earth?
St SAS A « o St
(a) large mass edwl (b) large size eSS
(c) negative charge @/tg&" (d) positive charge G ke

Q. No.21. The given diagram is called:

e QU IS
I+
o3¢
(a) circuit s (b) electromagnet SAeds
(c) fuse 74 (d) magnet S
Q. No.22. The pair of soil organisms which make friendly relations with the roots
of plants is:
:‘Lb'b:‘}bl e (92 d/ u»g}?lb?ucuﬁ il Zg
(a) ant & earthworm 15515 22 (b) scorpion & mole V5l
(c) bacteria & termites  —(zs., 2 (d) bacteria & fungi Sehan, 26
Q. No.23;Water runs slowly through: e b 2 endy
(@) silt YA (b) sand YO
(c) clay gt (d) loam e AFSE K

Q. No.24. Identify the star from the given options:
LJ,:/ U"iL‘JJ 4.1[‘#;.‘_):‘).561;
(a) Earth ¢ (b) Mercury s (c) Mars & » (d)Sun g
Q. No.25. Earth is fifty times bigger than:
PRV S
(a) Saturn =S (b) Moon =i

(c) Venus =Ny (d) Mercury  —slbs
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